
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

HOME LEARNING ANSWERS 

 
 



 

 

 

 60   80   95 

 35 
25 

   
5 0      

 63 68  78  88 93  

 39 29 24 
19  9 4 

47 42 
32 27 22   7 2 

66 71 81 86 91 96 101 106  

 
 

60 40  0 
   

40 50 80 100 
 
 

 

73 63 43  13 3 
     

25 35 55 
65 75  95 

 

134 124 114 94 84  

74 64 
 
 

48 58 68  78  88 98 108 118 

 
 
 
 
 
 
 
 
 
 
 
 

10 16 

12 5 

29 37 

34 41 

93 88 

70 50 

106 97 

 
 
 
 
 
 
 
 
 
 
 
 
 

7 14 

9 5 

42 30 

28 23 

91 64 

0 70 

106 77 



 

 

 
8 3 

4 14 

14 15 

19 15 

9 26 

7 17  

 
4 6 

 
 
 
10 6 
 
 
 

 
14 15 
 
 
 

14 18 
 
 
 
 
 

5 9 
 
 
 
22 4 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

6 10 
 
 
 

4 5 
 
 
 

50 8 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

3 3 

1 4 

2 1 

 
 

 
8 30 

 
 
 
7 10 

 
 
 

70 16 

 
 
 
6 9 



 

 

 
 

 6 

 20 

8 16 

12 24 

32 48 

80 54  

 
 

12 
 
 
 

20 
 
 
 
 
 
4 
 
 
 
36 
 
 
 

16 28 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

3 4 5 

17 18 19 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

14 18 
 

14 18 
 

20 17 
 
17 17 

 
 

28 29 30 
 
 
 

98 99 100 
 
 
 
 

101 102 103 



 

 

 
 
 
 

6 
 
 
 
 
 
 

8 
 
 

18 
 
 
 
 

24 
 
 
 
 
 
 

40 

 
 
 
 

1/2  
 
 
 
 
 

1/2 
 
 
 
 
 
 
 
 
1 
 
4 
 
6 

 
8 

 
11  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
P 
 
 
 

P 
 
 
 
 
 
 

shorter 
 

taller 
 
 

 
3 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

P P P 
 
 
 

P 
 
 

triangle 
 
 
It has 3 sides. 
 
 
 
 

e.g. 
 
 

 
No 

 
All of the sides are the same length. 



 

 

 
 
 

No  
95 is not an answer in the 10 x table. 

 
 
 
 
 
 

60 
 
 
 
 
 
 
 
 

6 
 
 
 
 
 
 
 

4 

 
 
 
 
P P  
 
 
 

P 
 
 

 
coins drawn  
appropriately 

 
 
 
 
 

 
6 

 
30 

 
10  

 
 
 
 
 
 
 
 
 
 
 
 
or an  
alternative  
correct  
answer 
 
 
 
 
 

P 
 
 
 

P 
 
 
 

an additional six squares  
should be shaded (8 in total) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

cuboid 
 
 
 
 
 
 
 
 
 

cylinder 
 
 
 
 
 
 
 

P 
 
It is not a square. 

 
 

or any other groupings of three chocolates 



 

 

 
 
 
 
 
 
 
 

P 
 
 

 
P 

 
 
 

P 
 
 
 

P 
 
 
 

P  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Marja Amir 
 
 
 

Tom 
 
 
 

It doesn’t make a noise. 
 
 
 

Amir 



 

 

 
 

tree 
 

tower 
 

 
café 

 
 
 
 

bike 
 

 
goat 

 
Sara 

 
 
 
 

water 
 

woman 
 
 
 

windmill  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

7 
 

4 
 

1 
 

6 
 

3 
 

5 
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3 
 

5 

 
7 

 
1 

 
6 

 
4 

 
2 

 
 
 
 
 
 
 
 
 
 
P  
 
 
 

P 
 
 
 

P 
 
 
 
P 
 
 
 

P  



 

 

 
 
 
 
 
 
 
 
 
 
 

 
Tommy fits inside 

 
a mug 

 
 
 

Tommy fits inside 
 

a bag 
 
 

 
Tommy fits inside 

 
a pot  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Tommy sees a worm 

 
 
 
 

Tommy sees a bee 
 
 
 
 

Tommy sees a spider 



 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

T 
 
 

H 
 
 

C 
 
 

M 
 
 

I 
 
 

W 
 
 

S 
 
 

B 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Tommy falls out of the tree.  
 
 
 
It is a long way to fall. 
 
 
 
He falls into the spider’s web. 
 
 
 
Oh dear! The web is broken. 
 
 
 
Spider is cross. 
 

 
Now he will have to make another web. 



 

 

 

 

ou ou 

ow ou  

 
 
 
 

ou 
ue louse  

ue 
 
 
 
 

 
au ow  

ue ou  

 

 
shout argue 

 
 
 
 
 
 

tissue 
 

count 
 
 
 
 
found 
 

crown 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

chew lied high 
new dries night 
flew field right 

 
 
 
 
 
 

 
born sore pull 
horn tore push 
short more our 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
s h o r e t o r e 
 

 
c r a w l y a w n 
 
 
 
h a i r d a i r y 

 
 
 
y e a r s p e a r 
 
 
 
b a r e s c a r e 
 

 
s t a r f i s h  
b e d r o o m 



 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Words spelt correctly 

 

 
alphabet

 ski
p  

 
 
 
 
 

think 
 
 
 

phonics 

 
where 

 
 
When  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

puff will cross 
sniff pill mess 
stuff smell grass 

 
 
 
 
 
 

 
fuzz crack if 

whizz brick yes 
fizz stick bus 

 
 
 
 
 
 
 
 
 
 
 

well catch 
 
 
 
 
love 
 
 
 
 

fastest 
 
 
 

fetch 
 
 
 

puff 



 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

any appropriate sentences 

 
 
 
 
 

s n i f f s t i f f 

p u l l s h e l l 

m e s s c r o s s 

b a c k s t u c k 

h a v e g l o v e 

w a t c h s n a t c h  


